
x1 x1x1
M10x35

x1
M10x60

x1
P1105

x1
M10x40

x2
M10x60

x2
M10

x1 8437
Ø25, 1100 mm
(+ 0-100 mm)

x1 M10x115

SI
K

A
FL

EX

21

PB1500BL - Mounting instructions
Båtsystem AB, Traneredsvägen 112, 426 53 Västra Frölunda, Sweden
+46 (0)31-69 03 80, www.batsystem.com, info@batsystem.se

2023 01 03 1

You will need this:
Detta behöver du:

x6
M8

1

19

9

17

87 12 14 15 16

10

6

3

13

2

x2
Ø50

2

x6
M8x50

6

x16
M6x30

11

x4
M10x15

x6
M8

10 13

3

x4
M10

x6
M10

4 5

1317

x1

17
15

1

Mounting/
montering:

17
15

1

x3
M10

x1
P1070

x16
M5

x2
M10

20 24

23

1

228

4 4

1

14

22 9

7

7

12

1214

16

NOTE: This boat accessory is only to be used at sea.       OBS: Detta båttillbehör är endast för bruk till sjöss.!

SIKAFLEX

Sikaflex

3

x16
M5

22

21



2023 01 03 2

Without anchor holder system / utan 
ankarsystem

With single bow roller / med ankarrulle

Use any hole 4+5 or 5+6 for mounting of code-0 
Använd hål 4+5 eller 5+6 för fäste av code-0

Use any hole 4+5 or 5+6 for mounting of code-0 
Använd hål 4+5 eller 5+6 för fäste av code-0

Alt Alt
17 1715 15

1 1

552 663 441

Mounting of brackets for gennaker and Code-0  / Montering av fäste för gennaker och Code-0
Strut and Code-0 attachment MUST be mounted at the same point  / Stag och Code-0 fäste MÅSTE monteras vid samma punkt

Use Sikaflex on the fittings. /
Täta med Sikaflex vid infäst-
ningarna mot skrovet.

The steel frame may be 
adjusted in width, if
necessary. Loosen
mounting bolts first
then secure again. 

Stålramen kan justeras 
i bredd vid behov. Lossa 
fästbultar innan och fäst 
sedan igen.

SIKAFLEX

+/- 50 mm

20



2023 01 03 3

5 5

Customize the Blackline board after the bow shape 
Anpassa Blacklineskivan efter förens form.

SI
K

A
FL

EX

Laminatblad
Laminate blade Svart

Black

The Blackline board may be customized after the bow shape. The 
material of the board is hard. Use laminate blades to avoid chipping 
of the material. Seal the surface with black Sikaflex.

Blacklineskivan anpassas till stäven efter behov. Materialet i plattan 
är hårt. Använd laminatblad för att undvika flisning av materialet. 
Försegla ytan med svart sikaflex.

18

P130X, max 20 kg
Starboard mounting by default. The port mounting is specified when ordering..

Styrbordsmontage som standard. Babordsmontage specificeras vid beställning.

Anchor roller / Ankarrulle

Fit the plate on the bottom of the board with screws. 
Montera plattjärnet på undersidan av skivan med skruv.

The Blackline board is fastened with screws on the underside and 
bolts on the top. two bolts pass through the plate, see below
Blacklineskivan fästs med skruv på undersidan och bultar på ovan-
sidan. två bultar går genom plattjärnet, se nedan

21

23 2211

x16

24



PB1500BL - Template
Båtsystem AB, Traneredsvägen 112, 426 53 Västra Frölunda, Sweden
+46 (0)31-69 03 80, www.batsystem.com, info@batsystem.se

2023 01 03 4

Printed 100% (no page fit!) 
Skrivs ut 100% (ej sidanpassning!)

Fitting Template - boreholes / Beslagmall - borrhål

93 mm



BU80P, BU80P-4 - Mounting instructions
Båtsystem AB, Traneredsvägen 112, 426 53 Västra Frölunda, Sweden
+46 (0)31-69 03 80, www.batsystem.com, info@batsystem.se

2023 01 03 5

x6
FSM5x358

21

You will need this: 
Detta behöver du:

3 4 51

Content/ Innehåll:

x6
M5

x2

x1

x6
M5

2

5 mm

1

2

1

2

Ladder / Stege:

BU76P-4

Mounting example / Monteringskarta:

A

B

3 B

A

X2

X2

2

1

4

3

5


